TPC solenoid simulation results_02 (20121102)
® Field distribution of 2m length solenoid (Diameter: 2m)

(Coil thickness: 20 mm, Current density: 100A/mm?)
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® Field distribution of TPC solenoid with optimized bump coil
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® Optimized bump coil size

Optimized bump coil width

SD of B in TPC region(0.5m*1.5m)
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® Iron plate MX[0f [}2 B3|

= Iron plateQ| &7t FIHYE+E 2|22 Iron holeQ| A7|7} A224& Field uniformity= ZO0}3.
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Hiron=150, Riron=100, SDB_D=0.030462

SD of B in TPC region(0.5%1.5m)

0.06
0-05 /
/ Hiron=50
0.04 -~
I Hiron=100
/ Hiron=150
- __/ Hiron=200
0.02 T T T T T 1
50 100 150 200 250 300
Radius of Iron hole (mm)
BO(center)
1.95
1-9 ——-_-_-—\
‘—_—-——_.______-
Hiron=50
1.85
— Hiron=100
Hiron=150
1.8 Hiron=200
1.75 T T T T T 1
50 100 150 200 250 300
Radius of Iron hole (mm)
Bmax(@coil)
1.25
1.2 W
V V.l v
1.15 ™\ R
/\/ \-\/\/\/\/ WV V haVA Hiron=50
Hiron=100
11 — R
M_/\/\/ \ V2, Hiron=150
Hiron=200
1.05 M@WVMZ
1 T T T T T 1

50 100 150 200 250 300

Radius of Iron hole (mm)




® [ron plate?t Coildte| ZtAY [E H3}
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® Field uniformity, Center field and Maximum field
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® Iron plate®| S74|(50, 100, 150 mm)0j| [tE field distribution B3}
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® Current density0j| [HE field uniformity B3}
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